Efficiency vs Dxy(PV)

5 10 15 20
TP dxy(PV) (cm)

[ Efficien

—=— DQM_CKF-test_1000evt
—— DQM_CKFREFit-test_1000evt
—— DQM_mkFitREFit-test_1000evt
—— DQM_NANTEST_1000evt

< 1.2

efficiency vs dxy(PV,
o
o i

©
fe)

°
N

0.

Efficiency vs Dz(PV)

=0.8 0.6 -0.4 -0.

0.2 04 06 08
TP dxy(PV) (cm)

1.2

=T : :
a [ : :
¥ r : :
» 1__"""""""""'."' """""" M
[ : :
> [ H N
2 08-_...................'.............'. .....
Qo L . N
o L . .
b= L H .
© 0.6 PEEERE FERETEE PP FERTES
0.df- e Feeedieeendn Beeee
7 S SR H S S e
I i i i i
o+ : :
© N N
o : :
P S et B .
0.95! : . L ; .
=30 -20 -10 0 10 20 30

Efficiency vs Dz(PV)
1.2

TP dz(PV) (cm)

s Lo T
a :
g :
ps 1 Srmtamemsesasesesenaes
@ :
> .
2 0]t e :
g :
S :
£ :
[OXG bRl R -
0.4f--- - { - fee e :
0.2f -4 - { e fi e g
i
o~ '
3
o
IO S | | O U ) SN
0.95

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


